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PABOTBI CTOJIOBOI

aTeipHas wKkoaa Ne34
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B.Ajiroxun

Bpemsi [ JEKYPHBIE I'PYIIIbI
I emena

9.35 1A, 19, 16, IT, 11, 1-4 PBI’
( mocJsie BTOpPOro ypoka )

10.25 1K, 13, 14,1E, 2T

(mocse TpeTbero ypoka )

11.15 3, 51, 6B, 6L; 7T, 711
( rmocJsie YeTBEPTOro ypoka)

12.10 8,9,10,11 knaccel

(_ rmocJjie naToro ypoka)

noacMeHa , 2 ¢cMeHa

13.00
(_ mocie mecToro ypoka | cMeHsl)

1B, 2A, 2b, 2B, 2]1, 2E

14.45 _
( mocJie nepBoro ypoka 2 ¢MeHbl)

3I°, 31, 3A,35,3B,3E, 3K,

15.40
( mocJie BTOporo ypoka 2 cMeHbl)

33,31,4A, 4B, 4B, 4I", 4]1

16.20
( 1ocJjie TpeTbero ypoka 2 cMeHbl)

5 A, 5b, 5B, SE, 6A,6b

17.30
( mocJsie 4eTBEpPTOro ypoka)

6@, 6E,7A,7B, 7B, 7E




